Subject: Explanation received. (re prev. post)
Posted by Russ Welti on Sat, 03 Dec 1994 00:38:53 GMT

View Forum Message <> Reply to Message

The IDL ABS function is a wrapper to the C ABS function. This is the
value that is returned by that function. | beleive the reason is

that the absolute value is not really defined for byte data. However,

| can't really explain what is going on and why it is returning this

value. You would see the same behavior in a C program. The solution
is to convert your arguements to integers before taking the absolute
value.
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| guess this makes sense, although | wish the manuals

made note of it, instead of saying that any type may be used with

ABS. For example, it mentions passing strings and complexes to ABS.
Would they also return garbage? Then what's the point?

Maybe it's all so IDL can avoid having a runtime error. But it is
sometimes hard to track down problems like this when a function
like ABS returns something *reasonable*, but wrong.

Anyway, | still like IDL ;) and find the manual is generally good.
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